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Intrucation All Questions are Compulsory.
Figures to the right indicate total marks of the Questions.

1. Ur the information in the table calculate Median and Mode.

OR
Explain merits and demerits of following : (Any Two)
(a) Mean
(b) Median
(c) Dispersion
(d) Skewness 

^rOR
State the types of skewness and firid co-efficient of skewness of the following
information:

(a) Baye's theorem
(b) Binomialdistribution
(c) Poisson distribution
(d) Normal distribution

OR

tA) State the addition and multiplication theorems of probability
(B) Explain Bay's Theorem.

Explain any two :

(a) Jointprobabilitydistribution
(b) Conditional distribution
(c) Variance of random variable and its properties.
(d) First and second order mathematical expectations.

OR

iA) Verify the Independency of events A and B from the following information -

Events 'A
hn

B 0,+2 0.18

; 0.28 0.L2

Write short note on joint probability distribution OR Conditional Probability
Distribution.
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4. tA) State the types of Sampling methods.

tB) Sampling and Non-sampling errors.

OR
(A) [n an examination 500 students appeared. The mean and standard deviation of the

students marks is 60 and 10 respectively. If the marks are normally distributed find
(1) Number of students getting marks more than 65.
(2) Number of students getting marks between 50 and 62.
(3) If the standard of passing is 35 marks find the number of students failing in the

examination.
(B) Write a note on Binomial Distribution.

5. Choose the right answer and write only its No (a, b, c, dJ in your answer sheet.

(1 ) Which of the following is the measurement of Central Tendency ?

[a) Quartile Deviation (b) Mean

[c) Standard Deviation "(d) Range

(2) tf mean-= 40, mode = 44 and standaxd deviation : 72, then find co-eifioient oi
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skewness.

[a) 0.35

[c) 0.48

(3) The mean of Binomial distribution:

(b)

(d)

- 0.33

- 0.45
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td) p(c) q

(4) A card is drawn from a well shuffled pack of 52 cards. What is the probability that

it is a king or que€n ?

[a) tb)

td)

(5) The error arising due to mistake in questionnaire means

(a) Non-Sampling Error (b) Sampling Error

(c) (a) and (b) both (d) popularError

(6) In which method the Tippet table is used ?
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(a) Simple random sampling method

tc) Stratified random sampling method

Population method

Coefiicient of correlation method

(b)

(d)

(7) The skewness of normal distribution is 

-
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(c)

Negative

Positive

tb)

td)

Zero

None ofthe Above



(8) Mean of 10 observation is 40. If one observation written 74 instead of 47, then find
?

true mean.

(a) 27.3 &)

tc) s7.3 (d)

(9) Sample Means

[a) Subset ofthe Population

(c) Complimentary set of the Population

(1O) The probability of 53 Sunday in a leap year is

(a) Ll7 (b)

(c) 4/7 td)

(11,) ,The maximum.value of.probability is .-

[a) 10

(c) 1

(12 ) Who has given t-distribution ?

47.3

37.3

tb) Union set of the Population

(d) None of the Above
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(a) Teacher (bl

(c) Goset (d)

(13 ) If standard error is less sample ,r 
:

(a) Null (b)

(c) Rb[able (d)

(14) Sample size is said to be large when it is _

(a) Less than 25

[c) Less than 30

tb) Less than 20

(d) Non ofthese
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